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Paper Pattern

McQS 40 each 1 mark

Short4 each 2 marks
Short4 each 3 marks
long 4 each 5 marks

In the Name of Allah, the Most Gracious, the Most Merciful

Cuestion No : 1 of 52

Marks: 1 {Budgeted Time 1 Min) Eﬂ

| The pararneter of the chi- square distrbubons... .

m salect your correct option )

'WWW.VirtualAcademyLive.com.
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YNade by: YWaqar Siddhe

Cuestion No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) =)l

| The mean of the F-distmibution is

Answer | Please select your correct option )

'WWW.VirtualAcademyLive.com.
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Cuestion No : 3 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

The F-distributen always ranges fram

Answer | Please salect your correct option )

r
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WWW.VirtualAcademylLive.com
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Nade by: YWaqar Siddh

Cuestion No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) =]

An expected valie of a random vanable 15 equal te:

Answer | Please salect your correct option )

b Y
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Vanance
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WWW.VirtualAcademylLive.com

Mean

Standard dewation

Cowanance

Nade by: YWaqar Siddh

Cuestion No : 5 of 52

Marks: 1 {Budgeted Time 1 Min) =)

When f(x) is continuous probabdity fmctien, then POI= 1) 15

Answer | Please select your correct option )
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Cuestion No : 6 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

Rurnour has reached the Trading Standards Officer that the manufacturer ABC is deliberately underfilling his cartons of orange prce Tt iz decided that a sample should be taken to checle this clam The =
stated contents on the carton are 100 mi on the average, then the alternatve hvpothesis is:

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

Hyop =100

Hy g 100

Hy <100

H, 5#=100

Nade by: YWaqar Siddh

Cuestion No : T of 52 Marks: 1 {Budgeted Time 1 Min) =

-

Which of the following is a charactenistics of the normal distnbution:

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

Itz a skewed distnbuhon

o

( -~ | Ttis bell-shaped

—

Tt 15 not asymptotc

It 15 leptolourte

’ Nade by: YWaqar Siddh

CQuestion No : B of 52 Marks: 1 {Budgeted Time 1 Min) Eﬂ

T35 1 -
FI{X']J"'E 0135
For the given potsson distnbubon 1 the mean vakue 15

Answr { Plosse selectyour corroct option ) WWW.VirtualAcademyLive.com
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Cuestion No : 9 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

[n normal distnbution & =

Answer | Please salect your correct option )

WWW.VirtualAcademylLive.com
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Nade by: YWaqar Siddh

Cuestion No : 10 of 52

Marks: 1 {Budgeted Time 1 Min) =

In normal distribution, the quartile dewation QD=

Answer | Please salect your correct option )

WWW.VirtualAcademylLive.com
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Nade by: YWaqar Siddh

Cuestion No : 11 of 52

Marks: 1 {Budgeted Time 1 Min) (=)

A good way to get a small standard error (s to use a

Answer | Please salect your correct option )

logical g\ \W W VirtualAcademyLive.com

Repeatad sampling
.

sure

| Small sample

-

mind it not sure

|
@rge sampla ’.

Large population
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Cuestion No : 12 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

The diference between the largest and the smalleet data values is called the

xm-x()

Answer | Please salect your correct option )

WWW.VirtualAcademylLive.com

Vanance
4 Xxm=max rane x(=
Toberquartle ange min range
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:-___ Eange
Coefficient of vanation
’ Nade by: YWaqar Siddh

CQuestion No : 13 of 52

Marks: 1 (Budgeted Time 1 Win) =)l

Which s appropriate average for finding the average speed of a car

Answer [ Please saloct your correct option )
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Nade by: YWaqar Siddh

Cuestion No : 14 of 52

Marks: 1 {Budgeted Time 1 Min) =)

Wikich one is the formula of rmd range:

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com
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Cuestion No : 15 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

-

Which ane of the following is a meso-lourtic curve?

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

Megatrrely skewed

Poatively shewed

J-ghaped

ﬁ_-
y Waormal
p .
e YNade by: YWaqar Siddhe
Cuestion No : 16 of 52 Marks: 1 {Budgeted Time 1 Min) =

-

[E vou drawr all possible zamples from some population, calculate the mean for each of the sample and construct the probabdify distnbubion of the sample means, what would you have?

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

A population distnbution

Logical not sure

& sarmple distribarion

i

A sampling dismbution
.

& parameter distnbubon

’ Nade by: YWaqar Siddh

Cuestion No : 17 of 52 Marks: 1 {Budgeted Time 1 Min) Eﬂ

By definition fly | ) =

Answr { Plosse selectyour corroct option WWW.VirtualAcademyLive.com
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Cuestion No : 18 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

The cobcal region for Ay g > g whena =001 15

not sure

s carrectopton WWW.VirtualAcademylLive.com
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Cuestion No : 19 of 52 Marks: 1 {Budgeted Time 1 Min) =

For degree of freedom 1 » 2 the vanance of t-distribution 13 always:

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

Greater than zero

r

Less than one

Equal to one
-

~ SN

i Greater than one B
N ) Nade by: YWaqar Siddh

Cuestion No : 20 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

Tdeally, the width of confidence interval should be:

Answer [ Please select your correct option ) www.Vi rtua IAcademVLive.com
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’ Yade by: Y4/aqar Siddhe




Cuestion No : 21 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

-

If the sampling distnbation of X iz normal, we would expect 9994 of the sample means to be within the interval

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com
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’ Nade by: YWaqar Siddh

Cuestion No : 22 of 52 Marks: 1 {Budgeted Time 1 Min) =

-

Which one of the formula will ke used to find sut the confidence mterval for & | when population vanance unknown and sample size 15 large?

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

R (mndg by: Wuan \Sid‘",ll

Cuestion No : 23 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

-

I X 15 the mean of the n observations, then which test statistic will be used to calculate the confidence hiits of the populaten vanance e 7

\

f/[Answer (Plosse soiedyyour corroct optien WWW.VirtualAcademyLive.com

Z-itahishc
. J
et

T-statistic

,33 -stahstics

F-statistics

’ Yade by: Y4/aqar Siddhe




Cuestion No : 24 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

In Statistics, we have MSE whach 1= abbrewiation of

-

Mean squatre error

s corrctopton WWW.VirtualAcademylLive.com

Measured square error

bedical screenmg exam

Majer samplng error
p

Nade by: YWaqar Siddh

Cuestion No : 25 of 52

Marks: 1 {Budgeted Time 1 Min) =

In the test of gaodness of fif, the 15 used as a test stahstic.

-

F
o

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com
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Nade by: YWaqar Siddh

Cuestion No : 26 of 52

Marks: 1 {Budgeted Time 1 Min) (=)

v=n-1
v repersent the

T there are 8 treatments with 6 blocks m a randomized completed block design then what are the degrees of feedom for treatments7

E

-

o e omeioion)_degree of WWW. VirtualAcademylive.com
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Cuestion No : 27 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

What Eacter detertnines the shape of the t-distrbution™ -

roctoption WWW.VirtualAcademylLive.com

Diegree of freedom
Critical vahe
-
Freguency of data
=
Probability
o -
YDNade by: Yy/aqar Siddhe
Cuestion No : 28 of 52 Marks: 1 {Budgeted Time 1 Min) =

-

T X and ¥ are random variables, then B[ X - )iz equal to

Answer | Please select your correct option | WWW.Vi rtua IAcademVLive.com

B[+ B
o
< E(X)-E)
X-E(Y)
-
5 E(X)-¥ &
YNade by: YWaqar Siddhe
Cuestion No : 29 of 52 Marks: 1 {Budgeted Time 1 Min) E‘

-

Two continuous 1v.'s 3 and T are said to be ndependent off and only o ;

comroctopton WWW.VirtualAcademylLive.com
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YNade by: YWaqar Siddhe




Cuestion No : 30 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

The lettery tekets 1ssued for the purpose of money-miaking follows a:

-

Answer | Please salect your correct option )

Mormal distnbiustion

WWW.VirtualAcademylLive.com

Discrete uniformm distribution

Bunormial distnbution

Hypergeemetne distribubon

Nade by: YWaqar Siddh

Cuestion No : 31 of 52

Marks: 1 {Budgeted Time 1 Min) =

Uniform distnbuten 15 defined by

-

Answer | Please salect your cofrect option )

Largest wahie

WWW.VirtualAcademylLive.com

Largest and smallest value

Smallest value

/,—-——-h..\

Central value
NG

Nade by: YWaqar Siddh

Cuestion No : 32 of 52

Marks: 1 {Budgeted Time 1 Min) =)

If am estmater gets closer to the population parameter by increasg sample size then if 12 known as:
g pop 3 v g SAT

-

Answe r correct option )

Congistent estirmator

H

WWW.VirtualAcademylLive.com

Sufficient eshmator

Efficient ectrnator

Unkaased estirnator

Yade by: Y4/aqar Siddhe




Cuestion No : 33 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

Cuanntative vanable iz fisther donded into

-

Answer | Please salect your correct option )

r

Contirzous vanable

WWW.VirtualAcademylLive.com

Discrete vatiable

ﬂ
Clontinous & Thscrete vanable

-

Hone of the abowe

Nade by: YWaqar Siddh

Cuestion No : 34 of 52

Marks: 1 {Budgeted Time 1 Min) =

Color ef the dress is the example of

-

r cofrect option )

Crualitative data

WWW.VirtualAcademylLive.com

Cuanntatve data

Continzous data

-

Dnserete data

Nade by: YWaqar Siddh

Cuestion No : 35 of 52

Marks: 1 {Budgeted Time 1 Min) =)

Wkich one 15 cormmonly called a bell shaped distribunon?

-
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Answer | P salect your cofrect option )
Symmeirical

WWW.VirtualAcademylLive.com
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Bimaodal

Skewed

1T shaped

Yade by: Y4/aqar Siddhe




Cuestion No : 36 of 52

Marks: 1 (Budgeted Time 1 Min)  (=)|

A fair coin 15 tossed three tmes, the probabdity that at least one head appear is:

-

Answer | Please salect your correct option )

WWW.VirtualAcademylLive.com
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Nade by: YWaqar Siddh

Cuestion No : 37 of 52

Marks: 1 {Budgeted Time 1 Min) =

The

probabibiby of simultanecus cccurrence of two events 15 called:

-

Answer | Please salect your correct option )

r

Subjective probabdity

WWW.VirtualAcademylLive.com

Conditional probabality

-
B

Joint probalbdity )

Prior prebabilty

Nade by: YWaqar Siddh

Cuestion No : 38 of 52

Marks: 1 {Budgeted Time 1 Min) =)

Wihat 15 the stem part of 243

-

Answer | Please select your correct option )
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Cuestion No : 39 of 52 Karks: 1 {Budgeted Time 1 Min) E‘

A rurnenical value used as a summary measure for a sample, such as sample mean, iz known as a

Answer | Please salect your correct option ) l WWW.VirtualAcadevaive.com

Population Parameter

r

Sample Farameter

Sample Statistc

-
f-—_--\-
( Population mean
"1‘,) Nade by: YWaqar Siddh
Cuestion No : 40 of 52 Marks: 1 {Budgeted Time 1 Min) =
Given the senes 1,2,1,1,2,2,2,2,3.4,5,3,2.3,1,4,2.3 Which one of the followng 15 mode of the given seires: -

Answer | Please salect your correct option ) WWW.Vi rtua IAcadevaive.com

( l ) repeted values is called YNade by: Y4/aqar \Sit;dhu

Cuestion No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) E‘

Mame the measures of dispersion that are not based on all the values

Bnawer{Plosse lck har to Add Answer) WWW.VirtualAcademyLive.com
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Cuestion No : 42 of 52 Marks: 2 {Budgeted Time 4 Min) E‘

When we use two-taled test?

Answer {Ploase click here to Add Answer WWW.VirtualAcademyLlive.com

t= t =

a0 e R S 1 [ A e ||
i | B b cienll=E—==:

test :
A bypothesis test in which rejection of the sull bvpothesis occurs for
values of the test statistic in either tail of the sampling distribution.

. YNade by: YWaqar Siddh

Cuestion No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) =

For a sample datan= 15, calculate £, for @ =0.10
2

Answer { Please click here to Add Answer ) WWW.Vi rtua IAcadevaiVE.com
R e S L A s N ]|
frcims | B e === === 5=

. YDNade by: Yy/aqar Siddhe

Cuestion No : 44 of 52 Marks: 2 {Budgeted Time 4 Min) E‘

Suppose we want to determme the proportions of smokers and non smoker in a city? In thes situation what type of distmbubon we can use?

Bnswer{ Plosse lck harn o Add Answer) WWW.VirtualAcademyLive.com

@ERaR] . e e aE L [ o ]

fome =] [ai =z == ===
following proportions, we are dealing with a BINOMIAL situation:

+ Proportion of smokers in a city smoker — success, non-smokers — failure.

+ Proportion of literates in a community — literacy rate, literate —+ snccess, illiterate — failure.
+ Proportion of males in a city — sex rafio).

to= A

» YDade by: Yy/aqar Siddhe




Cuestion No : 45 of 52 Marks: 3 {Budgeted Time & Min) Eq

I mean of a distribution is 20 and standard deviation is 2. Find cut 4% 27 e by applyng ermpaical rufe. What percent of data will hes between these two lnmts?

Answer { Plsase click here to Add Answer ) WWW.Vi rtua IAcadevaive.com

B ﬁlil"lélllu __.-.-'-,|‘ 'I“I::hr A A ‘..]f1mﬂ|
e [ g e == =

caleulare app keroo fiun
According to this empirical rule:
* Approximately 68% of the measurements will fall within 1 standard deviation of the mean, i.e. within the
interval (—X - S.—X + 5§}
= Approximately 95% of the measurements will fall within 2 standard deviations of the mean, i.e. within the
interval (—X — 28,—X + 18).
* Approximately o (practically
i.e. within the interval (—X — 35, —X + 15).

. YNade by: YWaqar Siddh

Cuestion No : 46 of 52 Marks: 3 {Budgeted Time & Min) =

Suppose X 1= arandom vartable having Poisson distribution with its parameter value 3, find valne of P(E=1)

inows Ploos gl baa o A Anewr) WWW.VirtualAcademyLive.com
B = I‘n'l"lélll g &3 I'lh'| w1 I“I::hr A A ] |:1l'l'fh;”
e [ g e == =

The Poisson distribution has only one parameter p = 0.
calculate easly now.. O O
p=3 Z=1) . _ —u“x .
Lim bxin.p)=——: x=012...
p==0
where ¢ = LTLEIE & :: ?&J;::r;:

N
. YDNade by: Yy/aqar Siddhe

Cuestion No : 47 of 52 Marks: 3 {Budgeted Time 6 Min) Eﬁ

[FX=2341,n=634, p, =030 then find the z-test stabishc for proporhion

Answer ( Ploss dlickbet o Add Anawer ) WWW.VirtualAcademyLive.com

A e R L A e |
e =1 [ -l e ==le=Fe

Test statistac:

4
Here npl =834 (0.50) =317 page 189
nd X =341

Hence X > np0 so nse X - 4%

X+l-np,

Vi Poll=pe)

341-4-317 23.5
So 7=t =

. et YDade by: Yy/aqar Siddhe




Cuestion No : 48 of 52 Marks: 3 {Budgeted Time & Min) E‘

-

A random sample of size n 15 drawn from normal population with mean 5 and vanance &
If 5=2 5, T =Tand =3, then what 15 the values of n7

Answer  Ploase click here o Add Answr ) WWW.VirtualAcademyLlive.com

a2 e N T [ A e S|
Fuams G| B =z A= Easliei=h i

hare mue =35, : y ==
The test sintistic fo be uzed is ans shid 1.92 ai ga aprox 2 i htink

ider nder lai aj ker laiana mow, n ko B0t sure :) becoz stat ae :p
X -y

5fn

. YNade by: YWaqar Siddh

Cuestion No : 4% of 52 Marks: 5 (Budgeted Time 10 Min) EH

A random varable X iz normally diswibuted with @ =50 and 0 =25 Fmd the probability of 3 larger than 54

Bnewer { Plasse lc hars o Add Arawer) WWW.VirtualAcademyLlive.com
a2 e N T [ A e S|

I'.-ll'.'_ _"JI-I i _dl' _;1 B T ul:_:—_ ::|I?;E"7_‘E
The test-statistic to be need i hare give sigma sqr, take under root its balf ques see
these type of ques
X—py sigma= 5 mue alsi give and X= 54 we find X>54 70 % slove now.. 30
L= o= % see table ete

(54-50 y5=4/5

. YDNade by: Yy/aqar Siddhe

Cuestion No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) EH

Fmd the coefficient of vanation (V) fior the followang price of a commodity
Price () 8, 13, 18, 23, 30

Answer {Please click here to Add Answor WWW.VirtualAcademyLive.com

DeHaR| e S [WF LT[R o ]
fema =15 =iz =Herall==—==ll==F =

Shoncut Formmila for Ungroup data
COEFFICIENT OF VARIATION

5 . 5= vrl 5 mean ka farmula laga laian X bar ki
— s LSt ey ey jaga....=X/n
(_1--? 100 ! I small nis 5

. YDade by: Yy/aqar Siddhe




Cuestion No : 51 of 52 Marks: 5 (Budgeted Time 10 Min) EII

The gven datais 1 = 1150, 7 =450, p =035, 4, py=03.@=001

Test the stated hypothesis (Use table value of 2 = +2.58)

Answer | Please click herae to Add Answer ) WWW.VirtualAcademyLive.com
e @] Y G R 100w # |
frin | B Al A ru|====|lEcti&

" YNade by: YWaqar Siddhu

Cuestion No : 52 of 52 Marks: 5 (Budgeted Time 10 Min) IEH

P T Y am
Chven,m =m, = 16,5 =50, =16, Construct a 30% confidence interval for the vanance ratio ! 2
2 A

T — X3

Aeimss { hoae plck b 4 idd A WWW.VirtualAcademyLlive.com
R e R R T A D |
Praoim ~1 [ e == e dli=

regards 1 have no wdea abou F test and this ques in the F test...
remmber me in ur pryaer after 3 br slove 1 paper.. :)

. YDNade by: Yy/aqar Siddhe




